


 

 

     

Q1.Why do teachers use teaching aids  

(a) To teach within understanding level of students.   (b) To make learning interesting.  

(c) To make students attentive.     (d) To make teaching easy. 

Q2. If you get an opportunity to teach a visually challenged student along with normal students: 

What type of treatment would you like to give him in the class 

(a) Take care of him sympathetically in the classroom.  

(b) Arrange a seat in the front row and try to teach in a pace convenient to him.  

(c) Not giving him extra attention because majority may suffer.  

(d) You will think that blindness is his destiny and hence you cannot do anything. 

Q3.The teacher's primary contribution to the education of children during the supervised study 

period lies in..........  

(a) Maintaining silence and order.    (b) Checking of home work.  

(c)Improving pupil study skills.    (d). Getting to know pupils as individuals. 

Q4.Which quality is most important for the student?  

(a) Hard work       (b) Obedience  

(c) Humility       (d) Independent thinking 

Q5.School teacher should give top priority to  

(a) understand the pupils.     (b) understand the community.  

(c) interact with parents.     (d) know other teachers. 

Q6.A best functioning of total personality indicates:  

(a) Maladjustment      (b) Excitement  

(c) Bad temper      (d) Mental Health 

Q7.The essence of an effcctive classroom environment is :  

(a) a variety of teaching aid.     (b) lively student-teacher interaction.  

(c) pin-drop silence.      (d) strict discipline. 

Q8.Dyslexia' is related to :  



 

 

     

(a) listening       (b) speaking  

(c) reading       (d) playing 

Q9.Which one of the following is the most important elements of teaching?  

(a) Relationship between teachers and students    (b) Subject matter 

(c)Teaching techniques and aids used     (d) Students' knowledge 

Q10.The education that the child receives in family is ......  

(a)Formal         (b) Informal  

(c) Non-formal        (d) Sub-formal 

Q11.To make children learn moral values :  

(a) They should be punished for wrong acts   

(b) They should be appreciated for good conduct  

(c)Teacher should model the right conduct    

(d) They should be given direct instructions 

Q12.The quality of Teaching is reflected :  

(a) By the pass percentage of students,  

(b) By the quality of questions asked by students.  

(c) By the classroom attendance of students.  

(d) By the duration of silence maintained in the class. 

Q13.Students who ask questions in the class should be :  

(a) Advised to meet the teacher after the class.  

(b) Encouraged to participate in the discussion in the class.  

(c) Encouraged to continue asking questions.  

(d) Encouraged to search answers independently. 

Q14.Judging the worth of all the educational outcomes brought about as a result of teaching - 

learning process.  



 

 

     

(a) Measurement       (b) Testing  

(c) Assessment       (d) Evaluation 

Q15.Classroom interaction and communication should generate :  

(a) Information       (b) Ideas  

(c) Arguments       (d) Problems 

Q16.Verbal guidance is less effective in the learning of :  

(a) Skills        (b) Relationships  

(c) Aptitudes        (d) Attitudes 

Q17.If a few students in class are weak, the teacher should :  

(a). Ignore weak students       

(b) Focus on bright students only  

(c) Focus on weak students only  

(d) Focus on entire class with extra guidance to weak students 

Q18.Which one of the following tests possessed highest reliability?  

(a) Objective Test       (b) Subjective Test  

(c) Oral Test        (d) Behavioural Test 

Q19. Which one of the following questions is better for measuring both knowledge and 

understanding levels at the same time?  

1. What is the colour and use of copper metal?  

2. A metal 'X' is reddish brown in colour, Identify 'X'. Why is 'X' used for making cooking 

utensils and electric wires ?  

(a)Only 1        (b) Only 2  

(c) Both 1 and 2       (d) Neither 1 nor 2 

Q20.While introducing a topic in the ciass, which one of the following maxims of teaching is 

best to be used ?  

(a) From known to unknown      (b) From simple to complex  



 

 

     

(c) From concrete to abstract      (d) From analysis to synthesis 

Q21.The most challenging task for a teacher is to:  

(a) make teaching learning process enjoyable  

(b) construct question papers for exams  

(c) evaluate answer sheets  

(d) maintain discipline in the classroom 

Q22,The correct and the best way to introduce a new topic to the students is by:  

(a) reading aloud from textbook  

(b) writing the topic in the center of blackboard with colourful chalks.  

(c) asking the students to read aloud. 

(d)relating to the previous knowledge of the students 

Q23.Which among the following is not the aims of teaching?  

(a) to bring changes in the behaviour of students  

(b) to improve the learning skills of students  

(c) to shape behaviour and conduct  

(d) to make students ready for the job marker 

Q24. What should be the attitude of teacher towards tuitions? 

(a) He should not do  

(b) He should always do  

(c) He should see that he does not harm the principles of the school 

(d) To spend time he should do  

Q25.The main purpose of giving punishment to students in the class is to :  

(a) Reform the offender      (b) Pass a message to other students  

(c) Show dominance of the teacher    (d) Retaliate for the wrong 

Q26.The first state in the country to introduce compulsory gender education at the graduate level  



 

 

     

(a) Kerala         (b)Tamil Nadu ...  

(c) Karnataka         (d) Telangana 

Q27.Who is chairinig the 65th Central Advisory Board of Education?  

(a)Shri Prakash Javadekar       (b) Shri Ved Prakash  

(c) Shri D.P. Singh        (d) Shri H. Devaraj 

Q28.The UGC came into existence on  

(a) 28th December, 1953       (b) 28th January, 1954  

(c) 28th February, 1956       (d) 28h March, 1957 

Q29.Who is heading a 9 meinbers Education Panel to frame a New Education Policy?  

(a) K. Kasturirangan       (b) K.J. Alphonse Kanamthanam  

(c) Ram Shanker Kureel     (d) M.K. Sridhar  

Q30.Main governing body in India for tertiary education is :  

(a)NCERT        (b) CBSE  

(c) UGC        (d) AICTE 

Q31.Which Online Teacher Education Portal was launched by HRD ministry for DIET'S?  

(a). Shikshak        (b) Prashikshak  

(c) Vidva        (d) Gyan 

Q32.Where did PM Modi unveil the first Indian Institute of Skills on 1914 December, 2016?  

(a) Jaunpur        (b) Dispur  

(c) Kanpur        (d) Jaipur 

Q33.India's rank in Human Development Index (HDI) in 2016 was:  

(a) 121        (b) 131  

(c) 141        (d) 151 

Q34.The Bollywood movie 'Hindi Medium' is based on :  

(a) Right to Education Act      (b) Right to Information Act  



 

 

     

(c) Right to Entertainment Act     (d) Right to Examination Act 

Q35.A dedicated web portal launched by Union government in 2017 for monitoring the progress 

of Sarva Shiksha Abhiyan (SSA): 

 (a) ShaGun        (b) DigitalNZ  

(c) zoopla        (d) Jagran 

Q36.The first country to be connected to National Knowledge Network (NKN) through optical 

fibre network, (a) India (b) Sri Lanka (c) Pakistan (d) Nepal 

37. 

National Service Scheme (NSS), under the Ministry of Youth Affairs and Sports was launched in 

which year?  

(a) 1969        (b) 1959  

(c) 1972        (d) 1962 

Q38.National Youth Day observed across India on 12th January to commemorate the birth 

anniversary of which famous Indian personality?  

(a) Swami Dayanand Saraswati     (b) Swaroi Vivekanand  

(c) Aurobindo Ghosh       (d) Rabindranath Tagore 

Q39.Which of the following is not an advisory board of education?  

(a) CABE        (b) UGC  

(c) HRD        (d) NCERT 

Q40.The Planning Commission of India is renamed as:  

(a) NITI Darshan       (b) NITI Mandal  

(c) NITI Aayog       (d) NITI Sangthan 

Q41.Who advocated for Craft Certred Education ?  

(a) Lala Lajpat Rai       (b) B.R. Ambedkar  

(c) Mahatma Gandhi       (d) Jyotiba Phule 

Q42.Which state Govt. is set to start the world's first IT campus for differently abled persons?  

(a) Andhra Pradesh       (b) Karnataka  



 

 

     

(c) Kerala        (d) Telangana 

Q43. Name the search engine designed exclusively for the student community with information 

related to education?  

(a) Edoogle        (b) Schoogle  

(c) Skoogle       (d) Edgoole 

Q44.The central government scheme “Udaan' is meant for the skill development of unemployed 

youths of:  

(a) Uttar Pradesh       (b) Jammu & Kashmir  

(c) Bihar        (d) Gujarat 

Q45. 'SWACHH VIDYALAYA' initiative was launched in which year?  

(a) 2014        (b) 2015  

(c) 2016        (d) 2017 

Q46.The headquarters of the National Assessment and Accreditation Council (NAAC) is situated 

at:  

(a) New Delhi        (b) Mumbai  

(c) Hyderabad       (d) Bangalore 

Q47.Slogan of SWAYAM programme of Govt. of India is :  

(a) Shikshit Bharat Unnat Bharat     (b) Shikshit Bharat Uncha Bharat  

(c)Swachchh Bharat Unnat Bharat     (d) Swachchh Bharat Uncha Bharat 

Q48.The Best University 2017, award is won by:  

(a) Banaras Hindu University     (b) Allahabad University  

(c) Aligarh Muslim University     (d) Jawaharlal Nehru University 

Q49.Which state students can now download school books from an e-textbook portal ? 

(a) Haryana        (b) Kerala  

(c) Karnataka        (d) Punjab 

Q50.Which state is planning to set up India's first textile university?  



 

 

     

(a) Gujarat       (b) Rajasthan  

(c) Odisha       (d) West Bengal 

Q51.The denominator of a fraction is 3 more than its numerator. If 1 is subtracted from both the 

numerator and denominator, the fraction becomes
 

 
 .Find the fraction 

(a) 
 

 
         (b) 

 

 
 

(c) 
 

 
        (d) 

 

 
 

Q52.The sum of two numbers one of which is 
 

 
 times the other one is 60. Find the numbers.  

(a) 20,40       (b) 25,35  

(c) 36, 24       (d) 38, 22 

Q53.A man leaves half of his property to his wife, one-third to his son and the remaining to his 

daughter. If the daughter's share is Rs. 15000, how much money did the man leave?  

(a) Rs. 85,000       (b) Rs. 95,000  

(c) Rs. 90,000       (d) Rs. 92,000 

Q54.The area of a trapezium shaped field is 480 m?, the distance between two parallel sides is 15 

m and one of the parallel side measures 20 m. Find the Other parallel side's length.  

(a) 54 m       (b) 44 m  

(c) 45 m       (d) 55 mm 

Q55. A rectangular paper of width 14 cm is rolled along its width and cylinder of radius 20 cm is 

formed. Find the volume of the cylinder:  

(a) 17600 cm3      (b) 18400 cm3  

(c) 18000 cm3      (d) 19600 cm3 

Q56. If Raju had Rs. 600 left after spending 75% of his money, how much did he have in the 

beginning? 

 (a) Rs. 2000       (b) Rs. 2200 

(c) Rs. 2300       (c) Rs. 2400 

. 



 

 

     

Q57.A man got a 10% increase in his salary. If his new salary is R1,54,000, find his original 

salary. 

(a)Rs. 1,40,000       (b) Rs. 1,44,000  

(c) Rs. 1,42,000       (d) Rs. 1,45,000 

Q58.Anil bought a pair of skates at sale on 20% discount. If the amount he pays is Rs. 1600, 

Find the marked price,  

(a) Rs. 1800        (b) Rs. 2000  

(c) Rs. 2200        (d) Rs. 2400 

Q59.A sum of Rs. 10,000 is borrowed at a rate of interest i 5% per annun for 2 years. Find the 

simple interest on this sum.  

(a)Rs. 3000        (b) Rs. 4000  

(c) Rs. 3500        (d) Rs. 2500 

Q60.Which word does not belong with others?  

(a)Adverb        (b) Punctuation  

(c) Preposition       (d)Noun 

Q61(. 
 
 )th

 of a rod is yellow, (. 
 
 )th

 is red, (.  
  

 )th
 is green and (.  

  
 )th

 is blue and 

the remaining 138 cm is black. The length of the rod in cms: 

(a) 196        (b) 292  

(c) 288        (d) 384 

Q62.If the numbers indicating hours on the dial of a clock are replaced clockwise by letters from 

the English alphabets starting from 'B' replacing T', which letter would replace '8' ?  

(a) F         (b) H  

(c) G        (d) T 

Q63.If the letters in the word "IRRATIONAL” are arranged in the alphabetical order, which pair 

of letters would be in the middle?  

(a) R-R        (b) N-O  



 

 

     

(c)L-N       (d) I-L 

Q64.If the seventh day of a month is three days earlier than Friday, what day will it be on the 

nineteenth day of the month?  

(a) Sunday       (b) Monday  

(c) Tuesday       (d) Friday 

Q65.Find the number that is missing in the series : 2, 7, 17, 32, 2, 77, .......  

(a) 107       (b) 91  

(c) 101       (d) 92 

Q66.Choose the correct option. Water : Dam :: Trade :?  

(a) Commerce      (b) Economy  

(c) Goods       (d) Trade Policy 

Q67.Find the number that is missing in the series,  120, 99, 80, 63, 48, ..?... ? 

(a) 35       (b) 38  

(c) 39        (d) 40 

Choose the correct option. Fan : Sweat  

(a) Fire : Smoke      (b) Rain : Drought  

(c) Wind : Evaporation     (d) Crop : Harvest 

Q69.Choose the odd one :  

(a) Fingers       (b) Palm  

(c) Knee       (d) Wrist 

Q70.Antonym of 'Ostentatious':  

(a) Nescient       (b) Awkward  

(c) Bankrupt       (d) Reserved 

Q71.Choose the correct option Pulp : Paper :: Hemp :?  

(a) Basket       (b) Yarn  



 

 

     

(c) Rope       (d) Cotton 

Q72.Find the correct alternative. Horse : Foal: Mare  

(a) Sheep: Lamb: Goat     (b) Lion : Cub: Den  

(c) Man: Child: Woman     (d) Cat : Kitten : Puppy 

Q73.Choose the correct option. CAT :DDY :: BIG :?  

(a) ČLL       (b) CLM  

(c) CML       (d) CEP 

Q74.Choose the odd one:  

(a) Sajra       (b)Mustard  

(c) Rice       (d) Wheat 

Q75.There are six children playing football, namely A, B, C, D, E and 'F. A and E are brothers. F 

is the sister of E. C is the only son of A's uncle. B and D are the daughters of the brother of C's 

father. How is C related to F?  

(a) Cousin       (b) Brother  

(c) Son       (d) Uncle 

Q76.How many times .............. not to do that?  

(a) haven't I told you      (b)have I told  

(c) I told you       (d) have I told you 

Q77 The cabinet warned the Prime Minister that if he did not accept their advice, the differences 

between the Legislative and the Executive arms of the Government would be..........  

(a). eliminated      (b) eroded  

(c) exemplified      (d) exacerbated 

Q78 The television serials are characterized by an .......... storyline and ... and subplots.  

(a) unending .......... convoluted     (b) infantile ............ break  

(c) extempore .......... routine      (d) erratic ........... forthcoming 

Q79.You can do franchising if you are .......... to shut your ........ to many things.  



 

 

     

(a)Willing, eyes       (b) Opt, eyes  

(c) Skilled, window       (d) Blind, vision 

Q80. The antonym of 'Antidote' is : 

(a) medicine        (b) poison  

(c) anodyne        (c) amity 

Q81.In all ......... Harsh will get the job.  

(a) likelihood        (b) options  

(c) odds        (d) candidates 

Q82.The Antonym of 'Ally' is :  

(a) aide        (b) adduce  

(c) opponent        (d) rely 

Q83.Saba caused her parents a lot of ........... when she was a teenager.  

(a) problematic       (b) yearning  

(c) anxiety        (d) vex 

Q84.Jaya knew that to apologize would be .......... to admitting she had failed.  

(a) assumed        (b) tantamount  

(c) abrogate        (d) about 

Q85.If a rider does not hold the ........... correctly, he can fall.  

(a) bridal        (b)whip  

(c) bridle        (d) saddle 

Q86.She is extremely hopeful about her results, ......... ?  

(a) Isn't she        (b) Is she  

(c) She isn't        (d) Aren't she 

87. Varun was accused of murdering his wife, and though he was…………he never recovered 

from the Shame and the Scandal. 



 

 

     

(a) charged        (b) booked  

(c) applauded        (c) acquitted 

Q88.At this age he is tired............ his life.  

(a) with        (b) from  

(c)of         (d) upon 

Q89.The officer has stayed away from ............ populism such as raising the income tax 

exemption limit.  

(a) restricted        (b) classified  

(c) overt        (d) furtive 

Q90.He ........ everything that was taught by me.  

(a) understand       (b) understands  

(c) understood       (d) was understanding 

Q91............. novel you gave me is out of ........... print.  

(a) the, an        (b) an, the  

(c) a, the        (d) the, no article 

Q92.The indirect speech for the sentence: He said, “Alas! I am undone.” is :  

(a) He exclaimed that he would be undone.  

(b) He exclaimed for sorrow that he was undone.  

(c) He exclaimed with sorrow that he was undone.  

(d) He exclaimed with sorrow that he were undone. 

Q93.Distribute the apples ............. the children.  

(a) among       (b) between  

(c) with       (d) to 

Q94.She is a close friend of ............  

(a) my        (b) I  



 

 

     

(c) me        (d) mine 

Q95.He was sorry ........... what he had done.  

(a) over       (b) for  

(c) at        (d) of 

Q96.......... the general had been told by the field staff that continuing warfare would be ........... to 

his soldiers, he insisted on deploying more battle tanks.  

(a) Although ...... detrimental      (b) Because ........ incremental  

(c) Although ..... formidable      (d) Because ......... immediate 

Q97.The president has ........... to the demands to release secret documents related to the army fat  

(a)refused        (b) endorsed  

(c) incited        (d) acceded 

Q98.The political......... of the 1980s ard 1990s resulted in a civil war. 

(a) accord        (b) discord  

(c) descent        (d) discretion 

Q99.Three years ............ passed since Ram's mother died.  

(a) is         (b) are  

(c) were        (d) have 

Q100. 'Innate' means : 

(a) Acquired        (b) Inborn  

(c) im.le       (d) Alert 

 

 




